

Order of Operations • Set 3 of 5

Name: _____

Brackets first, then multiply and divide, then add and subtract — working left to right within each step.

$9 + 6 - 11 = \underline{\hspace{2cm}}$

$(7 + 6) \times 11 = \underline{\hspace{2cm}}$

$2 + 6 - 11 = \underline{\hspace{2cm}}$

$7 \times 3 - 6 = \underline{\hspace{2cm}}$

$(6 + 6) \times 3 = \underline{\hspace{2cm}}$

$6 \times 5 - 5 = \underline{\hspace{2cm}}$

$(4 + 7) \times 3 = \underline{\hspace{2cm}}$

$3 + 2 - 11 = \underline{\hspace{2cm}}$

$(8 + 2) \times 8 = \underline{\hspace{2cm}}$

$(9 + 7) \times 3 = \underline{\hspace{2cm}}$

$5 + 3 - 8 = \underline{\hspace{2cm}}$

$3 + 9 - 2 = \underline{\hspace{2cm}}$

$7 \times 2 - 10 = \underline{\hspace{2cm}}$

$6 + 5 - 8 = \underline{\hspace{2cm}}$

$4 + 5 \times 5 = \underline{\hspace{2cm}}$

$7 + 3 - 4 = \underline{\hspace{2cm}}$

$6 \times 8 - 5 = \underline{\hspace{2cm}}$

$3 + 2 - 3 = \underline{\hspace{2cm}}$

$8 + 5 - 8 = \underline{\hspace{2cm}}$

$6 + 9 - 6 = \underline{\hspace{2cm}}$

$8 + 9 \times 11 = \underline{\hspace{2cm}}$

$(2 + 7) \times 12 = \underline{\hspace{2cm}}$

$(3 + 8) \times 5 = \underline{\hspace{2cm}}$

$(6 + 6) \times 9 = \underline{\hspace{2cm}}$

$3 + 4 - 12 = \underline{\hspace{2cm}}$

$3 \times 9 - 4 = \underline{\hspace{2cm}}$

$9 + 3 \times 9 = \underline{\hspace{2cm}}$

$7 + 8 \times 9 = \underline{\hspace{2cm}}$

$4 + 5 - 7 = \underline{\hspace{2cm}}$

$5 + 4 - 12 = \underline{\hspace{2cm}}$

Order of Operations · Set 3 of 5 — Answer Key

$$9+6-11 = 4 \quad (7+6) \times 11 = 143$$

$$2+6-11 = -3 \quad 7 \times 3-6 = 15$$

$$(6+6) \times 3 = 36 \quad 6 \times 5-5 = 25$$

$$(4+7) \times 3 = 33 \quad 3+2-11 = -6$$

$$(8+2) \times 8 = 80 \quad (9+7) \times 3 = 48$$

$$5+3-8 = 0 \quad 3+9-2 = 10$$

$$7 \times 2-10 = 4 \quad 6+5-8 = 3$$

$$4+5 \times 5 = 29 \quad 7+3-4 = 6$$

$$6 \times 8-5 = 43 \quad 3+2-3 = 2$$

$$8+5-8 = 5 \quad 6+9-6 = 9$$

$$8+9 \times 11 = 107 \quad (2+7) \times 12 = 108$$

$$(3+8) \times 5 = 55 \quad (6+6) \times 9 = 108$$

$$3+4-12 = -5 \quad 3 \times 9-4 = 23$$

$$9+3 \times 9 = 36 \quad 7+8 \times 9 = 79$$

$$4+5-7 = 2 \quad 5+4-12 = -3$$